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GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper B 

Higher

(Calculator and Non – Calculator)
Higher Unit 2 Paper B 
Section A

Calculator section

1.
Charles found out the length of reign of each of 41 kings.

He used the information to complete the frequency table.

	Length of reign

(L years)
	Number of kings
	
	

	0 < L ( 10
	14
	
	

	10 < L ( 20
	13
	
	

	20 < L ( 30
	8
	
	

	30 < L (40
	4
	
	

	40 < L ( 50
	2
	
	


(a)
Write down the class interval that contains the median.

.......................cm

(2)


(b)
Calculate an estimate for the mean length of reign.

....................... years

(4)
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 (Total 6 marks)

2.
Paul and Carol open a new shop in the High Street.

The table shows the monthly takings in each of the first four months.

	Month
	Jan
	Feb
	March
	April

	Monthly takings (£)
	9375
	8907
	9255
	9423


Work out the two 3-point moving averages for this information.

The first one has been done for you.

9179,    ………………

 (Total 2 marks)
3.
The table shows information about the number of hours that 120 children used a computer last week.

	Number of hours
(h)
	Frequency

	0 < h ≤ 2
	10

	2 < h ≤ 4
	15

	4 < h ≤ 6
	30

	6 < h ≤ 8
	35

	8 < h ≤ 10
	25

	10 < h ≤ 12
	5


(a)
Complete the cumulative frequency table.

	Number of hours
(h)
	Cumulative frequency

	0 < h ≤ 2
	10

	0 < h ≤ 4
	

	0 < h ≤ 6
	

	0 < h ≤ 8
	

	0 < h ≤ 10
	

	0 < h ≤ 12
	


(1)
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(b)
On the grid, draw a cumulative frequency graph for your table.

(2)
(Total 3 marks)


4.
There are 800 pupils at Maytown School.

The table shows information about the students.

	Year group
	Number of boys
	Number of girls

	7
	110
	57

	8
	98
	85

	9
	76
	74

	10
	63
	87

	11
	95
	55


A teacher is carrying out a survey. 

He takes a sample, stratified both by Year group and by gender, of 60 of the 800 students.

(a)
Calculate the number of Year 8 girls to be sampled.

............................

(2)


Toni stated “There will be twice as many Year 7 boys as Year 11 girls to be sampled.”

(b)
Is Toni’s statement correct?

You must show how you reached your decision.

(2)
 (Total 4 marks)

TOTAL FOR SECTION B:  15 MARKS

Higher Unit 2 Paper B 
Section B

Non-Calculator section

1.
Janet throws a dice and records the number shown on the top face.


She does this 300 times.

Work out an estimate for the number of times she will record the number 5

............................

 (Total 3 marks)


2.


	
	Boys
	Girls
	TOTAL

	Liked coffee
	
	
	

	Did not like coffee
	
	
	

	TOTAL
	
	
	


30 students were asked if they liked coffee.

20 of the students were girls.

6 boys liked coffee.

12 girls did not like coffee.

Use this information to complete the two way table.

(Total 3 marks)

3.
Jan measures the heights, in millimetre, of 20 plants in her greenhouse.


Here are her results.

	178
	189
	147
	147
	166

	167
	153
	171
	164
	158

	189
	166
	165
	155
	152

	147
	158
	148
	151
	172



Complete the stem and leaf diagram to show this information.

	         Stem
	   Leaf

	
	

	
	

	
	

	
	

	
	


(Total 3 marks)


4.
Jeannie measured the heights, in metres, of some of her friends.

The box plot summarises this information.
[image: image2.emf]
(a)
Write down the median height.

……………… m

(1)

(b)
Write down the lower quartile of the heights.

…………………m

(1)

(c)
Find the range of the heights.

……………………m

(1)

(Total 3 marks)


5.
Joan has two boxes of chocolates.
The boxes are labelled A and B.


Box A contains 15 chocolates. There are 6 plain, 4 milk and 5 white chocolates.
Box B contains 10 chocolates. There are 5 plain, 3 milk and 2 white chocolates.


Joan takes one chocolate at random from each box.
Work out the probability that the two chocolates Joan takes are of the same type.

………………………………

(Total 3 marks)

TOTAL FOR SECTION B:  15 MARKS

BLANK PAGE
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Modular 2544 Unit 2 = Data Handling

Higher – Section A – Calculator

1.


	Length of reign

(L years)
	Number of kings
	Mid
	Mid ( f

	0 < L ( 10
	14
	5
	            70

	10 < L ( 20
	13
	15
	          195

	20 < L ( 30
	8
	25
	          200

	30 < L (40
	4
	35
	          140

	40 < L ( 50
	2
	45
	            90



41
 695


(a)      10 < L ( 20

            (b)     695 ÷ 41 = 19.95(121…)

2.     (a)   (10), 25, 55, 90, 115, 120

        (b)
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4.   (a)   85 ÷ 800 ( 50 = 5.3125      Sample 5 boys

      (b)    No      Girls = 55 ÷ 800 ( 50 = 3.4            Sample 3 girls

                          Boys = 110 ÷ 800 ( 50 = 6.875     Sample 7 boys

Mark Scheme Paper B   

Modular 2544 Unit 2 = Data Handling

Higher – Section B – Non Calculator

1.
300 ÷ 6  =  50

2.

	
	Boys
	Girls
	TOTAL

	Liked coffee
	6
	8
	14

	Did not like coffee
	4
	12
	16

	TOTAL
	10
	20
	30


3.

	        Stem
	   Leaf

	          14
	   7   7   7   8

	          15
	   1   2   3   5   8   8

	          16
	   4   5   6   6   7

	          17
	   1   2   8

	          18
	   9   9



4.
(a)   1.57

(b)   1.4

(c)   1.76 ( 1.3 = 1.46

5.
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14  7 = 147
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